1Menu X [ tblpayrolltaxes X [TI] tblEmployees X

iMenu X | ] tblpayrolitaxes X | [ZI] tblEmployees X = | MyUCA ~¥ Perc ~ Payroll Pl Filing Status ~t Minimum Inc = Maximum Inc =  Clic
=  Filing Status = |Salary Pay Period: = Total of Pay Check = Cli 14/21512 0.12 12 Individual $2,244.00 $5,290.00
T PP ) $333.34 | 13 21512 0.1 12 Individual $1,250.00 $2,244.00
0!" : 12 21512 0 12 Individual $0.00 $1,250.00
11 Joint 12 $333.34 15 21512 0.1 12 Joint $2,500.00 $4,488.00
12 Joint 12 $333.34 821512 0 12 Joint $0.00 $2,500.00
13 Individual 12 $1,333.30 21 21512 0.12 26 Individual $1,036.00 $2,441.00
,333.
. 20 21512 0.1 26 Individual 577.00 1,036.00
14 Joint 12 $666.67 — > 51,
. 19 21512 0 26 Individual $0.00 $577.00
15 Joint 26 $2,080.00 22 21512 0.22 26 Joint $2,441.00 $4,552.00
16 Joint 12 $150.00 18 21512 0.12 26 Joint $2,071.00 $4,883.00
17 Individual 12 $180.00 17 21512 0.1 26 Joint $1,154.00 $2,071.00
18 Joint 12 $86.00 16 21512 0 26 Joint $0.00 $1,154.00
W) 0 0 $0.00 $0.00
W) 0
I want the

tblEmployees.Salary Pay Period of 12 or 26 to match tblpayrolltaxes.Payroll Period,
tblpayrolltaxes.Filing Status to match tblEmployees.Filing Status and

tblEmployees.Total of Pay Check to be between the tblpayrolltaxes.Minimum Income and Maximum Income.



